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1) 391§ &t T AENR RIS Hiven FHitme et 2 ? (616)
1) == 98% I S 2) wfestaTg Fot FTet SRt

3) HETCHT SIId $ol o . 37egsht et quataeft 4) ofrer sgrgl st Jiht quafaeft
2) ¥ g erufier vt o gt ? (608)

1) eoft rid 8. 2) eofier grufte aroft Bid.

3) gRufier SR ATATETT . 4) groft v e,
3)  ‘ dieW sie gTet | A ahvERren e |9 (610)

1) 3AHe a1 eu 2) 7 W& A0 3) T B0 4) FEe gE S,
4) ‘37 IATSA’ T HiAqT el HITE FUH Hed AR 7 (602)

1) amn 2) Tz R 3) Tge 4) =l wd

5) |geE B 9 gE el SN Iqd YA SHuaEEt TU gee ISTell. Ul TEE 39 AR, WWew
TSUITETS! AT ITTATHATST Tehd TS, ek Tehd T SHSUTAT ST, H=AT ST JTII3T TSV

- §g BN TS, STAehicTd Wes Soo, H A GTurl & el ITaHTedTd 3g JerTae Helqd
AT HIAMT ST T AT STHTE WS Jal, SR AT SHef T6Y JeedTanan JTeal.
T MY I T He AT Tl T4 HATT 37T,

YTEHTEATA IZTUT JATReA Helqd a8 Shid[1 shivtal S aal ? (601, 602, 603)
1) T yem heamn 9 A,
2) &I WU (3TTRIYT UTe30NT) SHeATHIRE ded.
3) A T AT A= 39 Al
4) 99 AYJ T4 THATE] ITIHS Al

(9 . 9) = 6 [P.T.0.]
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6) Uk WEAT T 3 Jqreit St AT HIZA=! T &Y v ? ( 629)
1) x-3 2) x+3 3) XX 3 4)%

7) 3.7 9, 3.4 A, 4 At S o= BrenvTen @reliel 96 J TR St ? (619 )
1) fomet Frepron 2) TS fenior 3) g Bl 4) wufgas B

8) Hermied fhkea 30 WaTg a @WI-Wl 9 20 WesTg TR 8 11ed, @ fhheea QoTss TR
WHTEIN eI U ara uaiE ot ? ( 606)

1) 3 2) 2. 3) 3 4) 5
2 3 5 3
9) WU TogEEA JeT Ta HIEUATHETS! Wt Teht HIUTT TATAT IR LAl AU ATEL. (624)
1) ShETETAT T&T HTefd 2) U o TEIT SUANT HEA
3) SheATAT Y ihd =T YA HEA 4) TUATET ITANT HEA
10) 75 TU3 ThEW 3 Qg™ 2. 1S9, 8 6. [ hdl T 93 W@ == fuese ? (626)
1) 2.5%. 2) 250 . 3) 15 %. 4) 1.5 %.
%WEEIF&

11) Join the words in 'A' and ' B' using 'and' to make meaningful idiomatic pairs and

choose correct option. ( 627)

'A' 3nfUT "B Tewdier steigut vieg fFaga sieiuut visewg qER w0 anfur A wata e

A B
day left then write
now life night right
here north there death
east back low take
1) day and there 2) now and take 3) left and right 4) left and write

12) Read the passage and choose option showing correct answer of the question given
below. (618)

" knock ! knock ! knock ! ' someone was knocking on the door of the inn. It was
already getting dark outside .
" Who's there ? " the inn keeper called from within.

"I am a poor, tired merchant. I want to spend the night at the inn, " said the man
outside.

Who was knocking on the door of the inn ?

1) inn keeper 2) a lady 3) a tired merchant  4) innkeeper's wife

(U . ) = 6 [P.T.0.]
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13) Choose correct option showing correct translation of the following sentence. (624 )
" I love to water my plants and my plants love water "
1) WeAT 3ATOT ST UISTAT ITvfl ST 3TT9ed.
2) WEAT WIEAT YIS Toft TR JTaed ST Jrgam T urvft 37aed.
3) WIS Ao Aot firesd ATET 90 T Il STeed.
4) Tq: YO 9oft = ST ST gx ureft @,
14) Choose ' Adverb ' from the following sentence. ( 626)

' The socks fit my feet neatly '.
1) socks 2) fit 3) neatly 4) feet

15) Read the news and select correct headline. (602)

Ahmadabad, Feb 15, 2016 : A team of Indian and German scientists working near
Bhuj in the kutch region of Gujrat had found a big fossil of a dinosaur in a hill in
Lodai Village. On Saturday, they found a few more fossils.

a) Dinosaurs are the future of the world.
b) Lodai village works for dinosaur.
c) Scientists find more dinosaur fossils in kutch.

d) German scientists study human fossils in kutch.

faoa - fasmet

16) “UTOATA QIEUTRT WIAT * 3 Wil Tehl ShIUTe Tehea TTdi=l 3180t 312, (603)

1) T Tt 2) ag=eeh Tt 3) 3Gt Tt 4) TrrdeRTicTes Tt
17) T RTest =t vne. ( 610)

1) fega 2) arEdt 9y 3) @ 4) =fifer amg
18) UaA W1 YehedTd WIclicTieh! ShIUTeT TehIITER St fesaard. @ vata faet. (612)

1) 9w 2) WHETEAT TR 3) GeAwh 4) T HiH
19) T gA UrET™ A9 AHHER TSard. a1 SR taETesn dETeR vt ST Ui .

I g fereEr. (611)

1) SeraA 2) g g 3) A §A 4) e §A

20) TgeT™ SIS el HERAM Wl ATRAT, ArTheiedl TR Jard idld, 3ol TgRam v
A AT AT freuEETe g U e, el fafay e amoreen Tentn aeEs
WA ? TRY 9= FEEt. ((609)

1) gt 2) 98 3) HEHA 4) f3EorE

(a . 3) = 6 [P.T.0.]
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YR THoheTsa UTgaTel A1d &E g ? (615)

1) wifefE 2) R AHEAER  3) HHE IWh 4) wEg
e THTETE iU e 3@ 3 2 ( 610)

1) A &Y HATY Y IR,

2) Ues TR i fig 3=

3) e g wfearell sTeea ugiek = IR,

4) 39T THTER 3799, Ju¥, g, &g a1 =R soar=h fot s

e T =1 Bt W TEdl @ AT=AT AT el hRER UTEUTHI T ST |E ShiuTdt

3R ? (628)

1) TRU=Td 2) HEFTRUTICTeRT 3) TR qiwg 4) UYL
I TG e Wefietaeh! vt M fiwom A, (606)

1) His 2) f& 3) AT 4) 3@ e

Wietiet =T |rSuTuht Hiseares FUm=al ARl TGUUIe ShivTd TRUMH FIOTR 314, (605)

(I . 8) o 6



